Semi-comnservahive replicatan

—>cell is ready to divide
= 1two strands of the pelix sepavatre
— both 4he strands sevve as kemplates

- the nucleofldes attach to the strands
= 2 new DNA Molecules are Lormned

~one styand i new and ane is onginal

os 1t IS called S€Mi-congevyvative.

—-arginal strand

Ynew Styand

eY The base sequence 9 -the oniqinal strand determines

{ ™e bage sequence 9 the neuy; Strand.This is because o
cohnp\ementqrq base PAiing -

0\’“\5 Mo RS AERRe Rale e ieles e linked,the structure will

< be stable.

2 't 1S an enzyme that separates +Hne 2 strands af-the
DPNA by breaking +he hydrogen bonds The strands
Need to be Straight ag they ccm t split if they are sHll



Helicase:

°consist80;j 5 globular poly pephdeg \n &
donut shape. iy

*fthey assemble wWitn Hhe DNA strand
N

®¥he strand passes through Hne cenire
e

NP
e magvement S€pAra+te s +ne styands

and ATP s used Yot Hhe waverment -

[J-heticace - DNA pslymevace
5 ™~ -nNew styand

DNA PoLYMERASE

= &t inkS neuclotideg wgethex o form o nes s braund
USing 4ne oMginal strand as a tem plate .
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‘e 1S e syninhegis o] MRNA copied Lom +ne DN A
bage stquences by RNA polymerasge.

DNA _ Tvanse pHion — 5 TyanslabBan

. RNA polymevace sepavates +he pyA styands and

Sbarrts DQiY’iﬂg U.P QNA Nucleatidec with +ne DNA
s trand- Can\y ane - leading strand.)

RNAPO\VMG'QS;/—U « Ubinds with A
tiNiTrTTo as there \S no T
;U R i e N

S - RNA nucleohdes

5% KNA Polymerase forms covalent bands betueen +he

RNA nucleatdes. g RNA palymer s Lormed -

* It gets separated Lram 4he DNA stvand and
detoches: The dauble helix ey e DNA Lorms agarn.
s-en‘se S trand
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'S a RNA styand wi1th
Sense strand: Mme strand 4nat is

identcal 4o the
RNA sequence (T instead oqU)-



Hie sense strand as well.

—rhe QNQ Hletalalcl setel= 'S '(Lo'rmed S Hne Mmescen
RNA strand (mRNA)-
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[£1S 4ne process where the genetic wMfaymatien
Hhe MmMRNA

a Mbascme.
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1S translated into a paly Pepthde chain an
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o 'he vivosagmes bind to Yhe MR NA and BREVE '\ o =
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s The génetic code present an +the tRNA align W\\Jﬂ\ e
base sequence on Hhe MRNA strand. There \s
COMple mentary base PaMing (ARLE&-URACQC). \L
9 Eaely tRIVA molecule bindg wikth a specific 4
actd wWith Hhe use o €nergy fyom ATP. Only a
sPeciffic aminoe accrd win bind with a specfie tRNA.
This is determined by 4ne genetic code of 4he tRNA.
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The Yibaosome helPs Parmsg 4nhe banag < betineenvne
aminag

Qe v e e @l Po\ypepnde chain.




central dogmo- o} Protein syYNtnesis:

DNA tanscmphon mRNA ransl\ation Proteins.
: A 4

L

\

> MRNA transcmbes +he DNA antsenge Strand- The
MRNA is trans\atred by tRNA o Nbosormes to form

S el =

MESSENGER RNA AND GENETC
CaDE€

RNA that cayries the information to syn¥nesize o
Prorein 'S caled messenger RNA o MR NP -

PONlY cevytald genes are transcvbed and only ceyraln
AR AHENS . TauiE hehne S(=he mnm e cqtnp\asm ‘(lD‘f

A sequence oa 2 bases on the MRNA is called a coday. |
°Cach cadon is Tesponsible Loy codinNg A Cevtain Type
o) aminodaa.

E e order elle o cins e echapilic sl < avder d aming

eral S ldlslenn

decids in e po\ypeprde chasn. A\
cocaiS i
Why are only 3 bases used?
— Y different bases and 20 amino acid S O
vauwne
A | base cannok code ohNe amine actd. N
N ] @l e

2 oaisesia g delilc Paligitie aclcls fletilsame 2 @lax ol

B 2. 2 bases are used.

ANtcadons:
ERNB molecutes have anya codons o) 2 bases:
L
Hese antcodons bind wirn e codons on MmRNA
= (Complimentany )-
5
Hhey CAMMY e amino acd cm‘egpoﬂd"ﬂcj 1O the codan.



The proces¢ o) translation goes pon until it yeachesg
o Stop coden. |

The polypeprde is Teleased alter Mne cormmpietyom .




